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10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(i1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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SOCIAL WORK
Paper 111

AR
gyAuereRt 111

Time Allowed : 2% Hours]

Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

question carries Two (2) marks. Attempt All questions.

T, T YA gred.

GOl : A1 JRAULRd THRU UdeX (75) SgUdEl U Sed. Wodd URAIn & (2) T

‘POTA’ Act stands for :
(A) Prevention of Illegal Trade Act

(B) Promotion of Trade and Assets
Act

(C) Prevention of Terrorist
Activities Act

(D) Prevention of Terrorism Act
Human right does not include :
(A) Right to vote

(B) Right to freedom of assembly
(C) Right to tax evasion

(D) Right to privacy

The proponent of positive theory
believe that criminals are :

(A) Born
(B) Nurtured
(C) Groomed

(D) Due to environment

‘drar’ el
(A) TU=T 3% ol ¢ ofae
(B) YHIYA AT® < S U™

>

K
(C) Tus=m 2 W SFRIHES
Fee

(D) foeR=M e WeH sfe

e SR IreT EEY e AT
(A) HATHUhRR

(B) Wha AT SRR

(C) X Jhiduaren feeni

(D) Wl SR

¥as fagiae g o faverm
Uq &I -,\1%-,-“-{ %. ...................... .

(A) STHHd:
(B) arefaciat
(C) wsfae

(D) TR
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Assertion (A) :

Civil Society Organizations
promotes change in socio-political

system.
Reason (R) :

It aims predominantly to capture

local self-governance.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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Once the child is sent to special home
he can be given reformative services

like ....coovveveeeenns or permitted.
(@) Attend school

(b) Counselling

(¢) Vocational training

(d) Prohibited to visit specified

places
Codes :

A) (a)

(B) (b)

©) (@), ®), ©), (d)
D) @)

In serious offence, imprisonment is

between ................. 170 SRS years.
(A) 2 to 5
(B) 5 to 10
(C) 3to7

(D) 5 to 20
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o

GURTcHS: Fa fSed S wrehdma foha

o (aV

W feeft S .

(@) TMesd SO

(b) FHUIRIH
(c) AEHTR FIFTeror

(d) TafTe SMER ST HSeld shed

SOl
Hehdich :
A) (a)
(B) (b)
(C) (@), (b), (©), ()

D) (d)

T STOqET=a Sfledig L

foen gre weRd.
(A) 2495
(B) 5d 10
(C) 347

D) 5 d 20
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Children’s Court provision is made

under these .....c..cc........ Act.

(a) Protection of Child Rights Act,

2005.

(b) Protection of Children from

Sexual Offence Act, 2012.

(¢) Right to survival of Children

Act, 2012.

(d) Protection of Children Act,

2015.

Codes :

(A) (a), (c)

(B) (a), (b), ()

(©) (a), (b)

D) (@)

7.
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I FECAME FA A TS

AT

(@) &1 ARIHRR T HEel, 2005.

(b) SR ATk STILTARGT TET

HOM ATY=H, 2012.

(c) ARl STUaTEl AIHR hIIel,

2012.

(d) STeTshT=T TI&UT hEel, 2015.

- -
-
-

(A) (a), (c)

(B) (a), (), (0)

(©) (a), (b)

D) (@)




Assertion (A) :

Regionalism is a major cause of

social unrest.
Reason (R) :

Because victims of regionalism gets
influenced by anti-social activities

and fanaticism.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true
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faam A)
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Match the following and choose
the correct answer from codes given

below :
List I

(@) Homes for juveniles during

pendency of their trial in court

(b) Shelter homes for neglected

juveniles

(¢ Homes  where juvenile
delinquents are sent for

conviction

(d) Institutions that separate

young offenders from adults

List II

(i) Special Homes

(i) Borstal Homes

(iii) Observation Homes

(iv) Juvenile Homes

Codes :

A) (a)(id), B)—Gii), ()~iv), (d)—(i)

(B) (a)-@), (b)—@1), (c)-(iir), (d)-Gv)

(C) (a)-(Gir), (b)—(Gv), (c)-@1), (d)-i)

(D) (a)-(Gv), (b)), (c)—(ir), (d)-@)
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Shtear argr efor =it feadwan
Hhaemyd 9y e Haer

I |

(@ =aETAAE gfwar g€ swar

ATATIES! STHCT  SB

(b) T AERME HARTTE

(c) Toremm TNV SRl
qrefauard JuR dAer[E

(d) TEU STUUAM W STIATIEA

AT HIOMT HEe
It 11

() feros
(i) LR
(iii) TReorTE
(fv) ST
Hehdieh :
(A) (a)-@1), (b)), (c)-(v), (d)-()
(B) (a)-@), (b)), (c)-(i11), (d)—(iv)
(C) (a)-@11), (b)-(iv), (c)-(0), (d)—(i1)
D) (@)—(v), (b)—(iii), (c)—(i), (d)—G)




10.

11.

12.

‘Victimology’ is a science of :

(@) Victims

(b) Victim proneness

(¢c) Punishment to Victims

(d) Protection of Victims Rights
Codes :

A) (a)

(B) ®)

©) (a), (), (d)

D) ()

Performance budgeting is based

on :

(A) Items of investment

(B) Items of expenditure

(C) Plan of implementation

(D) Objectives of expenditure

The demographic dividend in India

refers to the phenomenon of :

(A) The fastest growing working

population vis-a-vis dependent

population
(B)
©)
(D)

Increasing infant mortality rate
Decreasing female foeticide rate

Increasing proportion of elderly

in the population

11.

12.
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(c) =@ fan

(d) o= SAfeeRRi TI&To
Hehdiah :

A) (a)

(B) (®)

(C) (a), (b), (d)

(D) (c)
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13. Assertion (A) :

14.

Erik Erikson was considered as

Neo-Freudian.
Reason (R) :

Erik Erikson gave six stages of

psychosexual development of

personality.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which
authority controlling Child Welfare

is the administrative

Committee ?

(A) dJudicial Department

(B) Human Resources Department
(C) Police Department

(D) Social Welfare Department
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13. faam= A) :

14.

e TReEA 8 T9-WissaK! |l

<l (R)

TR TRHEA 7 Afaau<ar=a Taeshmr=

TR T G

TTell feoedr Fohdiemyd arig 94
IREEIRE
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15.

16.

As per the Juvenile Justice (Care
and Protection of Children) Rules,
which of the following is not
suggested in the staffing pattern
for an institution with a capacity of
100 Juveniles :

(A) Doctor
(B) Counsellor

(C) Part-time Art and Craft-cum-
Music Teacher

(D) Lawyer
Assertion (A) :

Fourth pillar of democracy has a

huge impact on society.
Reason (R) :

Public outery through media lead to

ammendments in existing

legislations.

Select the correct answer from the

codes given below :
Codes :
(A) Both are true and (R) is the

correct explanation of (A)

(B) Both are true but (R) is not the

correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

15.

16.
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17.

18.

19.

According to Freire, which of the
following elements pertains to the

most oppressed section of society ?
(A) Naive consciousness

(B) Liberated consciousness

(C) Magical consciousness

(D) Critical consciousness

FCRA is :

(A)

Foreign Contribution Rules

(Regulation) Act

(B)

Foreign Coordination and

Regulation Act
(C) Foreign Centre Rules Act

(D)

Foreign Contribution Rules of

Assets

What is India’s rank in Global Youth

Development Index ?
(A) 52nd
(B) 185th
(C) 133rd

(D) 30th

17.

18.

19.
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AT AR  TTeieidehl hITTdT FIeeh

arfeer IfeaSia wewrl Heda sme 2
(A) wEfl Site

(B) HeKi Sftel

(C) g Sirofter

(D) Totfres STofte

TH.HL.eRT BN

(A) R FagIRH &y (FIRH)

3

e
(B) HRA FiSATEATH i~ TIorH 3fre

(C) ®RA TR &Y 3l

(D) A FAFRGRE T 3N 3THH

AT STk ok e fasmeh %A
fRden e ?

(A) 529
(B) 185
(C) 133=

(D) 30=
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20.

21.

In order to create “Slum Free India”
which of the following pilot projects
has been launched in 2011 and

extended till 2022 ?

(A) Smart City

(B) Swachh Bharat

(C) Rajiv Awas Yojana

(D) National Urban Renewal

Mission

Religious ideologies have justified :

(A) Social Peace

(B) Promoting rituals

(C) Social inequalities

(D) Faith with reference to nature

and superhuman power

20.

21.
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22. Assertion (A) :

Trauma and abuse, illness and

struggle may be injurious.

Reason (R) :

But, they may also be a source of

challenge and opportunity.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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22. faam (A) :

SATETA AT(OT TR, STSTRYT 7707 Feref

? B 3T TR

%ruT (R)
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23.

Principle of beneficence in research

is about :
(A) Welfare of research participants
(B) Beneficiaries

(C) Do no harm to respondents

23.
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FYNEATdA TUYhR d<d & It
3

(A) TINEATIA YT SHeRi el
(B) wmeeft

(C) STRESTIAT hIUAEl Soi1/eNeh =
Trgafan

(D) Risk (D) e
24. In Intervention research ABAB is | 94 wwq€iy §sle@id ABAB =US :
known as :
(A) W/Timsﬂ( SRTEST
(A) Withdrawal/Reversal Design
(B) Multiple Component Design (B) fafay =2 AREET
(C) Withdrawal/Problem/Inter-
(C) HER/FHE/E=q8T
vention
(D) Intervention (D) T
P21 TSRS are the two most | 25. JUHF AN FHEhAGR fgedr STom=n
frequently given services by Medical | oo TR Ta Ja oTRA.
Social Worker.
(A) HHUSYH 30 HigrAd
(A) Counselling and Support
(B) ey enfor weq
(B) Referrals and Relief
C) WY oTfor Farem
(C) Referral and Interviewing ©)
(D) Rehabilitation and Assessment (D) 3i A ST geareh
15 [P.T.O.



26.

27.

28.

All survey elements that qualify for

inclusion in the research study is :
(A) The Universe

(B) Census

(C) Sample

(D) Unit of Study

Which of the following is not a
policy/programme of the Indian

Government for the elderly :

(A) National Policy on Older
Persons (NPOP)

(B) National Social Assistance

Programme (NSAP)

(C) Ayush Yojana for the Elderly
(AYE)

(D) Indira Gandhi National Old

Age Pension Scheme

(IGNOAPS)

Charisma is a characteristic of which

type of leadership ?

(A) Relationship motivated
(B) Employee-centered

(C) Transformational

(D) Employer-centered

26.

27.

28.
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STEHIAITIG U THCT T FHRTh Heeh
TS

(A) 9HI

(B) STHTOAT

(C) |7

(D) EIE UH

TTCAeTIh! JGATS hIvId HROT/ TR
T 9Rd WHRE T ?

(A) TAggETedd AL GR0

(B) U WIS GTerAdl hiiwH
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29.

30.

The purpose of report writing in

research is :

(A) Mandatory formality

(B) Partial fulfilment of degree
(C) Dissemination of findings
(D) Publication

Indira Gandhi Matritva Sahyog

Yojana (IGMSY) is a :

(A) Scheme to provide emergency

health care to pregnant women

(B) Initiative to provide
supplementary nutrition to

marginalised women

(C) Conditional cash transfer
scheme for pregnant and

lactating mothers

(D) Scheme to provide shelter
homes to needy pregnant and

lactating mothers
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29. HINYETT HWINEH STgaTar=l $e9 ©

(A) 3Tfemd frg=nfiehan
(B) TRl ofif¥Teh qod=n 9
(C) frewufen ¥R
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THIEAE.) BN
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31.

32.

33.

Which of the following benefits is not

currently extended to the senior

citizens ?

(A) Travel concessions

(B) Concession in membership fee
for health clubs

(C) Income Tax Relief

(D) Extra interest on savings

Formulative research design is also

known as :

(A) Analytical

(B) Descriptive

(C) Experimental

(D) Exploratory

Under the Child Labour

(Prohibition and Regulation) Act,

1986, a child is one who has not

completed :

(A) 18 years
(B) 16 years
(C) 15 years

(D) 14 years

31.

32.

33.
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WeteTyen! TEedid Ss3 AN I
HIUd Y e @G ?

(A) JarE "Held

(B) 3R Heedl (Fo16) = AT

NEINGIKSCE

(C) fHesshd HUrdial Haerq
(D) SerileR SAferehe oS
HNECIeIes TR STRIEE
I e GG Felge Sl
VNREEGERIRED

(B) ={ucHeh

(C) WANTHR

(D) SFAYUIHS

Tl TR (Ufqsier A7 fge) e,

1986 TER, dlcieh WU S
T ol SoRt .

(A) 18 =d

(B) 16 =d

(C) 15 =d

(D) 14
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34. Goodness-of-fit test is : 34. TEAG-SATR-TRIS FTFOT =~ R,
(A) f-test (A) TH =rEol
(B) x2-test (B) HE-TESR <=0l
(C) t-test (C) 3 ==
(D) z-test (D) s ==t
35. “Problem behaviour is maintained 35, ‘O 49 GHNHF TR GRS
by positive or negative
JSCI RO hTIH TR,
reinforcement.”
e faum Fomar fogera <uifaa 2
The above statement points
towards : (A) e fagur
(A) Systems theory
(B) wAIforTeAs e fogerm
(B) Psychoanalytic theory
(C) HHIfSIeh 3tezad foaqer<
(C) Social Learning theory
(D) Conflict theory D) e
19 [P.T.O.



36. Financial

37.

reward theory of

motivation is propounded by :
(A) F. Taylor

(B) A. Maslow

(C) H. Cooley

(D) Max Weber

Assertion (A) :

Trade Unionism in India is in

doldrum phase.
Reason (R) :

Competitive market economy
and globalization has changed

management policy and practices.

Select the correct answer from the

codes given below :
Codes :

(A) (A) and (R) are true and (R)
is the correct explanation

of (A)

(B) (A) and (R) are true and (R)

is not the correct explanation

of (A)
(C) (A) is true and (R) is false

(D) (A) is false and (R) is true

APR - 20317/111—D

36. gIUHET orfefes weftg fagra It

37.

HIEA ¢

(A) TH. I
(B) T HEel
(C) T =
(D) Hed TR
faam A) :

WA ShTHTR Ferear= feerdt Srer™ M

3R,
0T (R) :

Tgerfeaesh  ATfefs  areeas ot

STRTeh Teh{0T ATHes ST &IX0] SATf01

yafeld Hadd dga Hel 3Ted.

Trell fooiedn Sehdie gl g 94

e
(A) (A) g (R) Sl seR 3TRq 3for
R) T (A) 3 TF TIHIT T

(B) (A) ¥ (R) T2l aeR 3Med g

R) ¥ (A) 3 TF TIREFT R
(C) (A)T IR 318 WG (R) & I 38
D) (A)® =% 3 W (R) ¥ SR 378

20



APR - 20317/111—D

38. The Industrial Disputes Act, 1947 | 38. 3ENfiTeh TaY w1, 1947 HEY g
does not include : THEY A
(A) Works Committee (A) o i
(B) Worker Committee (B) =eht iR
(C) Conciliation (C) T
(D) Tribunals (D) Te=gTe
39. In order to add a few more services | 39. SIS JAMY UG AT W HATAIRS
to the existing ones, the Director of SRS TR YeTaeT=a SeeTehT S0
Centre for Senior Citizens invited .
s eah I A= el ST el
his senior colleagues to his cabin for
a discussion. They were expected to T AT et SR ’
place whatever ideas that came to Hel g SHoeiel feant femuft fageson =
their mind, openly before the group, Hd TS 3 enfa e
while postponing all criticism or
analysis of these ideas.
'qg?ﬁ Ykl gﬁ\’q'lj'[m]—oﬁ a‘rq'{Fﬁ 7
What method did the director use '
for stimulating ideas ? (A) Tre soa Tue
(A) Fish bowl method
(B) w=tIGdl
(B) Discussion method
(C) ToarmgISd
(C) Brainstorming method
D) TG
(D) Presentation method (D) ¥ <
21 [P.T.O.



40. The Wages Fund Theory was

41.

42.

propounded by :

(A) John Stuart Mill
(B) McGregor

(C) McClelland

(D) Mclver & Page

A statement of minimum acceptable
qualifications one must possess to

perform is :

(A) Job-description
(B) Job-analysis
(C) Job-specification
(D) Job-rating

X’ employer refused employment
to group of employees. It is known

as :

(A) Lay-off
(B) Closure
(C) Lockout

(D) Strike

40.

41.

42.

APR - 20317/III—D
‘e we fustd’ wefteds! ol
Areedt ?
(A) SI9 R Hid
(B) HeRINIR
(C) Hehfclele
(D) Hehest o1 TS

@G 1Y HIOAES FeKilhe STavaeh

I fraM Wi 9l S 3iEum

[ECIENE S I
(A) FE U
(B) = fergetom
(C) HrE fosom
(D) S HHSATT

ST T qTeTehTH °h|‘-|‘||{i‘°¢|l 1l enlH
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43. Whitley Committee proposed : 43. Tz Affd Trefiades! wE gaad ?
(A) The Royal Commission (A) IFA HATE
(B) Bhole Commission (B) Il hfAeM
(C) Joint Industrial Council (C) “Hlze TSR HIHd
(D) Works Committee (D)
44. Assertion (A) : 44. faum (A) -
Prevention of sexual harassment at e foswmll <ifes oo wfiey ©
workplace is a myth. %de Hys 3.
Reason (R) : &IOT (R)
Employer and employees strictly T A TR SRR Guees
adhere to gender equality. -
cplenNYU[ Ylcdd hdld.
Select the correct answer from the .
, TTell fooiedr Fohdiemyd arfg 94
codes given below :
IREEIE:
Codes :
(A) Both (A) and (R) are true and :
(R) is the correct explanation (A) (A) 9 (R) SE1 s&X 3TRd 3Ifur
of (A) (R) T (A) & 3TH TR 3T
(B) Both (A) and (R) are true but B) (A) T (R) T = 5 q'{g
(R) is not the correct explanation R -
(R) § (A) @ 3T TIRIHI0 e
of (A)
C) (A) € sT& 37E 91 (R
(C) (A) is true and (R) is false ©) W3 e ( )%iEF e
D) (A) is false and (R) is true D) (A) T F e T (R) & S e
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45.

46.

When fatal accident occurs it is a
duty of employee to immediately

report to :

(A) Chief Factory Inspector

(B) Chief Health and Safety

Authority

(C) Commissioner of Labour

(D) Assistant Commissioner of

Labour

First green corridor in Maharashtra

was created in between :

(A) Pune—Nagpur

(B) Mumbai—Nagpur

(C) Mumbai—Lonawala

(D) Pune—Mumbai

45.

46.
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Siegl WTUTHdeh  3TTed Sedd STeTdos!

ik 3730 o dieiedisl @eiielehl

DM Heddul, T = haswrEr 9

TR,

(A) &1 wREm s

(B) & A 9 {I&T 9 iferentd

(C) MR S

(D) SR HEr—dsh AT

TERIEM Ufeall UH HIASR

e A S®en T ST
(A) UI—ATTR

(B) HE—"YX

(C) HeTE—eATorereat

(D) qo—Hs
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47.

48.

Which of the following are typical

reactions to stress ?

(@) Fight or flight

(b) Defense mechanisms

(¢) Confusion

(d) Memory loss

Codes :

(A) (a), (c)

(B) (a), (b)

(©) (o), (@)

D) (b), (@)

Current widely used classification

systems of mental disorder are :

(A) ICD-9, DSM-III-R

(B) ICD-10, DSM-5

(C) ICD-9, DSM-IV-R

(D) ICD-10, DSM-III-R

48.
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fow gfafsran o
(@ @ fehen g
(b) L& FOM

(c) TY®

(d) SRR <8
Hehdich :

A) (a), (c)

B) (a), b)

(C€) (o), (@)

(D) (®), (@)

YL TAETEROTIo A Sieh ol
T % :

(A) IFELEL-9, Bl.UE.TH.-III-R
(B) A.€1E1.-10, SLTH.TH.-5
(C) ™.ELEL-9, SL.TA.TH.-IV-R

(D) ™.E.E.-10, E.T9.TH.-III-R
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49. Match the following and choose

the correct answer from codes given

below :
List 1
(@) Psychoanalysis
() Rational emotive therapy
(¢) Psychodrama
(d) Behavioural modification
List II
(1) Self talk
(i1) Catharsis
(211) Reinforcement
(iv) Role reversal
Codes :
(A) (a)-G1), (b)), (c)-(v), (d)—(iii)
(B) (a)-0), (b)), (c)-(v), (d)-(iir)
(C) (a)-(ii), (b)-(v), (c)-(ir), (d)-()

D) (a)-Gv), (b)-(iii), (c)-@), (d)—(ii)

APR - 20317/111—D

49. =g qrar Arfur wmireAt fed e

HehaeMygd avg e e
Bl |
(@) FATSEAO

ha VA

(b) WHTA sHRIe T

(¢) IR
(d) d-sgd
It 11
() a3 Ser
(i) dre-urer faem
(iii) FSTEIRTT
(v) VfHeRT-TRIed
Hehdich :
(A) (a)-iD), (b)), (c)—(v), (d)—(iii)
B) (a)-), (b)), (c)(iv), (d)~ii)
(C) (a)-@11), (b)-(v), (c)-(iz), (d)-(2)

D) (a)—Gv), (b)), (c)-0), (d)—(ii)
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50. Which of the following is not a mode | 50. HH(Heh FTUMAATA gav THesfavaran

of admission in Mental Hospital ? LI B AT ATE
(A) Voluntary (A) ==
(B) Reception order (B) TeR-3ATEX
(C) By Detention order (C) w¥-3rEX
(D) TASH.3T. R

(D) By NGO

51. In which country Euthanasia is | 1. I SR AR Sefer Mg 2

legal ?
e (A) Y9Rd
(A) India

(B) sfictent
(B) Sri Lanka

(C) e
(C) Netherlands

(D) Tweld=

(D) Philippines
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52.

53.

A medical social worker performs
‘risk assessment’ of a patient who
has been found stable by Doctors and

is advised discharge.

The social worker finds it not fitting
into the interest of the patient to
be discharged. The possible action
could be :

(A) Defer discharge

(B) Allow discharge keeping

institutional loyality in mind
(C) Let the patient decide

(D)

Discuss with interdisciplinary
team for preparing better

discharge plan

Which of the following is referred to

as ‘health triangle’ ?

(A) Physical, Mental, Spiritual
(B) Physical, Mental, Social

(C) Physical, Mental, Economical

(D) Psycho-social,
Medicinal

Spiritual,

52.

53.

APR - 20317/111—D
ShRUgR fEer F Brdieet e Her shaura

ool feded 0= dghid

STHIS

e o .Y ’ NN
coldencdld, SllelH-Hodlen encd.

ALY ATl U=l fedrean g
HEferdla el Sediee e[ Tk il
I AR A el RO Fdl W

A ?

(A) TleTHYA Tl HI0 B0

(B) wedfasat  aefiasd!  wqA
BEfieeyd o Il

(C) wumen fofg == ]9

(D) ST =i == e e
Bl el o e

(A) 3“1'“\135, ‘:||"‘|i\§$, AT Hh

(B) YRiReh, AAfge, QrHETH

(C) YRRk, qMfgs, &
(D) T-GrHIfSTeR, SeAtfcnes, 3wy
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54. Assertion (A) :

55.

Schizophrenia patients regress.
Reason (R) :

Overuse of defense mechanisms can

lead to mental illness.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true but

(R) is not the correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Medical social work practice

emerged out of ...............oeoil
(A) Medical Renaissance

(B) Lady Almoners

(C) Lady Gaga

(D) Humanitarian Movements

APR - 20317/111—D

54. faam (A) :

55.

ik = SO 9Tl

<l uT (R)

TETU FAET STTATRHeS HHHeh TSR

B STl

TTelt fooedr Fohdiemyd arg 94
IREEIE

Hehdieh :
(A) T8I (A) 9 (R) ssR 31F (R) B
(A) 3 ST TIRIHI TR

(B) <l (A) 9 (R) ssX 3/ (R)
(A) 9 3Th TR0 ARI

(C) (A) T IR 38 T (R) T I 3T
(D) (A) ¥ I 378 WY (R) § oo 3T

AAHIYAR GASHRTE GHeE  ATqA

(A) FTHEI GAESSIT
(B) Wl STaHAH
(C) «iEt T

(D) HHAIAEE T
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56.

57.

Which one of the following is not a

criteria of ‘Census Town’ ?

(A) A minimum population of 5000

persons

(B) It should have Municipal

Corporation

(C) At least 75% of male population
who are mainly engaged in non-

agricultural pursuits

(D) A density of population of at
least 400 persons per square

kilometer

Which of the following is not a

subject of Municipality ?

(A) Roads and bridges

(B) Regulation of slaughter houses

and tanneries

(C)

Fire service

(D) Private industry

56.

57.

APR - 20317/111—D

EATeTdehT ShIvET/d SO 983 =/<

frre éa 2

(A) TraM T 5000 7HTEl

(B) <1 IEUHEN HeMILATfeTehl STHTal

o

(C) 31— FeHMAE Taerc foh

HH 75%

qEETe FE STl

(D) T =Ry .4t @ foram 400 =g

ENEIRNIEIC EIRCE N R IEI

-~

@iyl hivda/d faoa TrRaferer
T ?
(A) T smfor ga ayoht

(B) @l ST Shid<! ShHTudT=]

S EE
(C) ST e

(D) | 3T
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58.

59.

Methods of participatory

development and participatory
needs assessment are based on

ideas of :

(A) Understanding of urgent needs

(B) Participation of people

(C) Consensus and common

priorities
(D) Involvement of people

The PESA (Panchayat Extension
to Scheduled Area) Act spoke a
refreshing language of rights
and strongly advocated and

guaranteed :
(A) Right to Work
(B) Structure of self-governance

(C) Organisation and conduction of

Gram Sabha

(D) Peoples’ participation

58.

59.

APR - 20317/111—D

TEUTT fashmEm=n ggdr oo ggar

TSI HEAeh IV Heheaiay ST

e ?

(A) dAEr=a TR STehal

(B) IhTET T8N

(C) TreHq 0T HE WIeATshd

(D) ARl HHETT

T’ (STIgfed & dErd fosR) ]
BRIl ScHTEAH® WIS Siie[d hemd
U GHAT I ST T I

(A) T FOIMET BFh fohal AR

(B) TI-IMEATET AT
(C) UMY |YF N A0 = reAfaoy

(D) <k 9T
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60. Which of the following is/are

61.

the approach/es to Community

Development ?
(z) Community Organising

(z1) Participatory Planning

(z11) Community Capacity Building
(tv) Women Self-Help Group
Choose the correct answer :

(A) (1) only

(B) (i) and (ii) only

(C) (ii) and (iii) only

D) @), (1), (iii) and (iv)

Which one of the following is

a comprehensive scheme for

prevention, rescue and rehabilita-
tion of the victims of commercial

sexual exploitation ?
(A) ASHA

(B) NIRBHAYA

(C) UJJAWALA

(D) VISHAKA

APR - 20317/111—D

60. Weiciush THIME o™ I g™

61.

A ?

() TS HEA

@) wewrht frEre
(i) FHSTE &1 Seft

(jv) AfgeT wWI-URRIAT T

3T HeharkrEl e &
(A) () T

(B) (i) 37T (i1) ekt

(C) (i) AT (iii) e

D) @), (D), (@) A (iv)

SEATIRT Fodl SIS UfTae, geoht

ST e FTeTede FeHeeTeh T3

e IR CARE NG S B I

(A) 3Tem

(B) fsfan

(C) 3I55detl

(D) fawmen
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62.

63.

Problem of health and education

among adolescent girls is
addressed institutionally through

the scheme :

(A) Rajiv Gandhi
Empowerment of Adolescent

Girls — SABLA

Scheme for

(B) Swadhar

(C) Rastriya Bal Kosh

(D) Integrated Child Protection

Scheme

A major indicator of women

disempowerment is :

(@) Decline in Child Sex Ratio
(6) Low Enrolment Ratio in School
(¢c) Increasing atrocities on women

(d) Increase in low employment

ratio in organised sector
Choose the correct answer :
(A) (a) only
(B) (a) and (b) only
(C) (c), (b) and (d) only

D) (a), (b), (¢) and (d)

62.

63.

APR - 20317/1I1—D
rTeTeeddie Geitean TR qer fereron-
Fraaed] AT HEJATTA  qTdesray
QT STl IS

I SIUTITHTS!

Aqe ?

(A) THviRas Heffen FerHeRtomandt
TS Me A — T

(B) YR
(C) U ety
(D) TUshifcHer e TR&IUT ITSIT

Higell A-HaTHIR{ME Sk CI1h o

qRd
(@) TeI-Hel=a JHIOM A B
(b) TMosd TME BIOATE HHT FHI

(¢c) Hfigd=id ded TR

(d) Tufed YT HHT ST dTed
THTT

Hehdlehiqd 3Tgeh S fael :
(A) (a) ek

(B) (a) U1 (b) e

(C) (c), (b) (0T (d) e
D) (), (b), (c) T (d)
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64.

65.

‘Nirmal Gram’ award is instituted
by the Gram Panchayat under the

programme :

(A) Jal Swaraj

(B) Gram Swatchchata Abhiyan

(C) Adarsh Gram Yojana

(D) Yashwant Gram Samridhi

Yojana

Provisions as to the administration
and control of Scheduled Areas

are in :

(A) Third Schedule

(B) Fifth Schedule

(C) Tenth Schedule

(D) First Schedule

64.

65.
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‘e e’ I IR e

o

o (o

HIUT HEAHATTG foer Sar ?

(A) ST =S

(B) UM ol AT

(C) Ayt M AT

(D) I9TEd UMW FHGT A

FAFYfaa asray grEsE fEAn

FLOATE TG THTHAAT Shivel Fferd

e ?

(A) forerdt gt
(B) W= 3=
(C) T@rell =T

(D) dfgelt =
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67.

........................... is a comprehensive
scheme for the prevention of
trafficking, rescue, rehabilitation
and reintegration of victims of

commercial sexual exploitation.

(A) Swadhar Yojana

(B) ICDS Scheme

(C) Ujjawala Scheme

(D) Kudumbashree Scheme

The first Family Planning clinic was

started in 1921 in Mumbai by :

(A) Ms. Awabai Wadia

(B) Prof. R.D. Karve

(C) Sir Dorabji Tata

(D) Mr. Adi Godrej

67.
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TSI AR ST SR wifiTeh SSum=a

T AT HeHd AR Yiqee, Hal,

e Eo B B G R e o n |1 3
(A) TMER IS

(B) ME.H.SL.UH. I

(C) sl Sl

(D) wgas A

oo LA N

1921 &Y Hogd ald dfect hed T

frerfi B qE B 2

(A) Tqg. EmEE o

(B) WI. NSl Hd

(C) W SIEST 2

(D) . ST e
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68.

69.

National Mission for Empowerment
of Women (NMEW) is an initiative

of the Government of India, for :

(A)

providing working women

hostel

(B)

training women for employment

©)

extending micro-finance to

marginalised women

(D) for serving as a nodal for

achieving holistic empowerment

of women

Sabla Scheme covers women in the

age group of :

(A) 18-25 years

(B) 45-60 years

(C) 3-10 years

(D) 11-18 years

APR - 20317/111—D

68. T Hfgc-Teriehn favE = &=

69.

A= ATEE AHAAT Teoh YRR

AT

(A) ARl wIOF Afgeae adfaye

(B) HfgdA T Arendardl wisreo

(C) HH< Udestalial HigeA™T 3Teqdd
qadl

(D) wfece 9oy Qe omas Aied
T WA FAl <O

gadl TS

AR Afget=l THETT Bl
(A) 18-25 oo
(B) 45-60 o8l
(C) 3-10 =rdl

(D) 11-18 ¥d
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70. Which of the following schemes

71.

provides for health, education,
feeding, nutrition, referral and non-

formal education ?

(A) ICMR

(B) ICDS

(C) MCH

(D) RCHS

Which of the following programmes
aims at the promotion of savings

among rural women ?

(A) Indira Mahila Yojana

(B) Rashtriya Mahila Kosh

(C) Mahila Samriddhi Yojana

(D) Jawahar Rozgar Yojana

APR - 20317/111—D

70. WIATAUSRT HIOCT ST SR, fReqor,

71.

SRR, Tre0, (Y3a) QY S 8ferdy

affor ST o170 yem | ?

(A) °T3.9].TH.3TR.

(B) 3TH.91.E1.14.

(C) TH.H.TH.

(D) AR H.T4H.TH.

TIATATHRT HIOTAT HTIAHH FTHIOT

HigaA ™Y d=d AEd GIcdeT SR T

IR ?
(A) sfe afeen e
(B) TUE HAfgal &

(C) Hfgall WHS! Ml

(D) SEE USRS
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72. The system of releasing an offender

73.

under the supervision of a person
who will give positive assistance and
counselling during a specific period

may be termed as :

(A) Parole

(B) Institutionalization

(C) Probation

(D) Foster Care

The food intake of pre-schoolers is

often highly variable because :

(A) Children are poor judges of

their own appetite

(B) Children eat a lot of junk food

(C) Rates of growth vary

(D) Milk is often underconsumed

73.
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ST YN SHeEAT IR NI T

HRIAT JHATUTET! Sadrd i oTel

fafeTse ShTAEieRar HehRicaes Hed 3T

THIRYH  HI.
(A) 9T

(B) HETHARTeRTO
(C) deitam

(D) HTT hTessi

R I e

o (o n ~
qiad-RITddl A enlRYl @

(A) a0 ar=a1 w@a:=a1 g fasEt

HH-SUEhR ST
(B) qd A= GHIUIG S S @A

(C) de™ YHIY dgord 3T9d

(D) THHIT FHHT hedl I
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74.

75.

‘A’, a member of Youth Club in
remote village toiled hard to make
people literate. Over the past 3 years
‘A’ made 800 minority women

literate.

For which of the following awards
can the District Collector forward
his/her name to the Ministry of

Youth Affairs and Sports ?
(A) National Young Leaders’ Award

(B) Award for outstanding Youth

Club
(C) National Adventure Award
(D) Leadership India Award
Gifted children are :
(A) Non-assertive of their needs
(B) Independent of parents
(C) Independent in their judgement

(D) Introvert in nature

APR - 20317/111—D

74. ‘31’ U FAASA GSHMH, AT TH

75.

QA AR TR SHIOIES! SIaTare

o hl, AN 3 Foid <=l 800

ACTGEASh HigA HI&R ol

TTATATHT HIOTCAT qIASTRTHTST

[ [} (aV

ISdISEIN

/@ 1 gar 9 hiel

ATATehe U139 STehald  ?

(A) TyFa o faed sEre

(B) 3TaTE B M= Youth Club

(C) M 3femax 37are

(D) faswiy s 1are

(A) A= TRSEed STUEl J9da

(B) UTcishT=a T&ds 3TEdId

(C) H-TAoiameed s 39

(D) SIqHE WIEN ST
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